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A peitem of lingor equatisns consists of two or mors Bnsar equatices, which
sebved gimultanesusly, . e
A golubien %o 6 fystem condlets of the values of the woriables which moke The

Sydhem trse.
Three Metheds for Salving Systesa
I
LL Substitutics

Seolve ong equation fer o varioble and suba%itite inte the ather equation,

IIL Elimination [Sometimes colled Addition)

=  Multiply cne or both equations by & walue or values, ga that the ceefficients
of one voriable in both equations ore the pame rumber but spposite signa,

#  Add the equations go that one variable if eliminated.

Problems
1. Solve the system of linear egustions by the falliming

methods:
a) Graphing, &) Elimination, ¢} Substitution,
e+ y=h [ﬂgﬁj@l’! u)
+ay=9 (®3) (9,9

Sh e 5,2)

2 Animals in an experiment are to be kept under a Strict diet, Eoch animal should
v Mwmﬂ profein and 10 grams of fat. The lebaratory technician is able

0 purchase fwo food mixes: Mix A has 20% protein.and 6% fat. Mix 8 has 50%
inand 5% fat. Complete the chart. Write and sobve a system of equations 1o

haw many grams of each mix should be used to obtain the right diet for
X A
Grams of Mix A | Grams of MixB | Total
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4. A company produces lown mewers, The
companmy's dalfy fixed costs are $42 000 and

warighle costs are $1500 per lown meower. The

mowers are fold for $1800 each,
a) Find the cast function C(x). = ISaa X4 lﬂi:mm

b) Find the reverue function R{xle | Buo ) LD000
: { a1 e

¢) Find the break-even paint. Write your i g =

answer as an ordered pair. P00 X = |Sagd +ﬂm T

d) Emh1hwwrwiﬁc%w1mﬁ - ﬂ'-'-'hﬂ-:l

on the given coordinate system and show the break-even point. o — "'-{F""'

&) Write the mecning of the breck-even point you found in past C LSRG 1.'“*".‘;,:
complete sentences with correct units, Include e m.u-r:‘m'lmn of the © ~ = 2570
_ mgh:-ubu *rhthnuigmrttﬂht ft-u.ndt-uih: 1 of the break-

even paint. ':l g ploberT M

5._ A compary markets exercise DVDs that sell for 534 |l'|-|::|udtng shipping ard .
i ing. The monthly fixed costs {advertising, rent, etc) are $47 700 and the

| ;- mtmﬂwrals.shiﬂwg,t.u}m!lzﬁin_r VD,
@) Find the cast function (=2 ¥S XA 47763
&1F1.1d the revenue function B(x)= 39S X _—
ie ind the break-even point. Write your
or a8 on ordered pair. 3EG5% =12 "ﬁ"i.q-
: i g -
o m::osfwmmufmdmm W
coordinate system and show the K. =2 2a , S R
gt Itk 212 L T gl w8
ﬂmrrminguﬂhabmﬁkvwmpnht
hpwfcwmg:ummmlﬁ
rrect units. Include an interpretation of the regions between the
» to the left and to the right of the break-even point,
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